31/12/09
61 348 Service Operations Management
Final Exam Answer Sheet
1. Jamel Fine Dining Restaurant observed in the last couple of months an increase in the number of complaints concerning its services rendered. The General Manager Jamel Chafra decided to form a brainstorming group to analyze the situation. This group, after a thorough investigation and brainstorming sessions came out with the following 5 categories of possible problems thought to create customer complaints:

· Slow order taking

· Guests waiting to be seated

· Table not clean

· Reservation problems

· Others

Later, management decided to take some observations to confirm the evidence and to decide which problem needs to be tackled first. In this regard, the following data has been gathered by Jamel Fine Restaurant employees concerning the above spelled out possible reasons:

	
	Problem Areas

	Week
	Slow order taking
	Guests waiting to be seated
	Table not clean
	Reservation problems
	Others

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	1
	2
	1
	0
	1
	1

	2
	4
	2
	0
	1
	1

	3
	3
	2
	2
	0
	1

	4
	1
	3
	1
	2
	0

	5
	0
	5
	0
	3
	0

	6
	5
	2
	4
	1
	2

	7
	8
	9
	2
	0
	1

	8
	2
	3
	0
	3
	2

	9
	3
	1
	2
	1
	0

	10
	4
	1
	3
	3
	0

	
	
	
	
	
	

	Total
	32
	29
	14
	15
	8


a) Plot a Histogram depicting weeks on the x-axis and “Slow Order Taking” Problem on the y-axis. (2 Points)
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b) Prepare a Pareto Chart for the above data. (2 Points)
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c) According to you, which problem area needs to be tackled first? Why? (1 Point)

“Slow Order Taking” problem needs to be tackled first since, looking from the Pareto Chart, “Slow Order Taking” problem has the highest frequency when compared to the other problems.
2. What are the 2 major groups of reasons causing difficulties in interactions between customers and contact personnel?  (2 Points)

The 2 major groups of reasons causing difficulties in interactions between customers and contact personnel are:

· Unrealistic customer expectations
· Unexpected service failure

3. Define the “Satisfaction Mirror”. How does it shape the way management approaches its contact personnel or “Internal Customers” (3 Points)

The “Satisfaction Mirror” highlights the relationship that exists between the customer and the employee. “Satisfaction Mirror” clearly states that the way management relates to the contact personnel (or “Internal Customers”) is reflected in how the external customers are treated. 
4. During the past tourist season, Fink Club did not achieve very high occupancy rates despite a reservation system that was designed to keep the Club fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Club was fully booked, revealed the record of no-shows as shown in the below table:

	No-shows
	Probability
	Reservations
	Cumulative

	
	
	Overbooked
	Probability

	
	
	
	

	0
	0.12
	0
	0.00

	1
	0.15
	1
	0.12

	2
	0.18
	2
	0.27

	3
	0.22
	3
	0.45

	4
	0.10
	4
	0.67

	5
	0.09
	5
	0.77

	6
	0.05
	6
	0.86

	7
	0.04
	7
	0.91

	8
	0.03
	8
	0.95

	9
	0.02
	9
	0.98

	10
	0.02
	10
	1.00


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 60.

a) Calculate the Expected Number of No Show Rooms. (2 Points)
· Expected Number of No Shows = (0 * 0.12) + (1 * 0.15) + (2 * 0.18) + (3 * 0.22) + (4 * 0.10) + (5 * 0.09) + (6 * 0.05) + (7 * 0.04) + (8 * 0.03) + (9 * 0.02) + (10 * 0.02) = 3.22 Rooms.

b) Calculate the Expected Opportunity Loss. (1 Point)

· The Expected Opportunity Loss = 3.22 * 60 = $ 193.20.
In order to avoid some of this loss, Fink Club’s management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Fink Club has made arrangements with a nearby Club (Ernst Club) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 125 per turned out guest.
c) Fill the below Overbooking Loss Table (3 Points)

	
	
	Reservations Overbooked

	No-shows
	Prob.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	0
	0.12
	0.00
	125.00
	250.00
	375.00
	500.00
	625.00
	750.00
	875.00
	1,000.00
	1,125.00
	1,250.00

	1
	0.15
	60.00
	0.00
	125.00
	250.00
	375.00
	500.00
	625.00
	750.00
	875.00
	1,000.00
	1,125.00

	2
	0.18
	120.00
	60.00
	0.00
	125.00
	250.00
	375.00
	500.00
	625.00
	750.00
	875.00
	1,000.00

	3
	0.22
	180.00
	120.00
	60.00
	0.00
	125.00
	250.00
	375.00
	500.00
	625.00
	750.00
	875.00

	4
	0.10
	240.00
	180.00
	120.00
	60.00
	0.00
	125.00
	250.00
	375.00
	500.00
	625.00
	750.00

	5
	0.09
	300.00
	240.00
	180.00
	120.00
	60.00
	0.00
	125.00
	250.00
	375.00
	500.00
	625.00

	6
	0.05
	360.00
	300.00
	240.00
	180.00
	120.00
	60.00
	0.00
	125.00
	250.00
	375.00
	500.00

	7
	0.04
	420.00
	360.00
	300.00
	240.00
	180.00
	120.00
	60.00
	0.00
	125.00
	250.00
	375.00

	8
	0.03
	480.00
	420.00
	360.00
	300.00
	240.00
	180.00
	120.00
	60.00
	0.00
	125.00
	250.00

	9
	0.02
	540.00
	480.00
	420.00
	360.00
	300.00
	240.00
	180.00
	120.00
	60.00
	0.00
	125.00

	10
	0.02
	600.00
	540.00
	480.00
	420.00
	360.00
	300.00
	240.00
	180.00
	120.00
	60.00
	0.00

	
	
	
	
	
	
	
	
	
	
	
	
	

	Expected
	-------
	$193.20
	$154.20
	$142.95
	$165.00
	$227.75
	$309.00
	$406.90
	$514.05
	$628.60
	$748.70
	$872.50

	Loss ($)
	
	
	
	
	
	
	
	
	
	
	
	


d) How many rooms shall be overbooked? Why? (2 Points)
Having recourse to the above Overbooking Loss Table, Fink Club shall opt to overbook only 2 rooms. For, such a senario generates the least possible loss when compared to the other situations.
N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
5. What are the common characteristics shared by some Service Firms that makes “Yield Management” practices appropriate for them? (2 Points)
The common characteristics shared by some Service Firms that makes “Yield Management” practices appropriate for them are:

· Relatively fixed capacity

· Ability to segment markets

· Perishable inventory

· Product sold in advance

· Fluctuating demand

· Low marginal sales costs and high marginal capacity change costs

6. What are some of the benefits of Franchising to the Franchisee? (3 Points)

Some of the benefits of Franchising to the Franchisee are:

· Management training
· Brand name

· National advertising

· Acquisition of a proven business

· Economies of scale
7. Define “Multicountry Expansion” Global Service Strategy. Give an example of a service firm that you think applies successfully this very strategy. (2 Points)

“Multicountry Expansion” is a growth strategy in which a service is replicated in more than one country using a franchising formula with little adaptation to the local culture. Examples of a service firm applying this very strategy can be:

· Mc Donald’s

· Burger King

· Domino Pizza

· Kentucky Fried Chicken

Good Luck
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